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ŷAmH$mer` ({O`moñno{e`b) VH$ZrH$s 

GEOSPATIAL TECHNOLOGY 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 60 

Time allowed : 3 hours Maximum Marks : 60 

{ZX}e  :   g^r àíZ A{Zdm`© h¢ & 
Instructions :   All questions are compulsory. 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 11 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na {bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >35 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• _| 

10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a 

Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 
 Please check that this question paper contains 11 printed pages. 

 Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 35 questions. 

 Please write down the Serial Number of the question before 
attempting it. 

 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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IÊS> H$ 

SECTION A 

n§Ðh ~hþ-{dH$ënr` àíZm| _| go {H$Ýht ~mah àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ EH$ A§H$ H$m h¡ & 
Attempt any twelve questions out of fifteen multiple choice questions. Each 

question carries one mark. 112=12 

1. B§Q>aJ«m\$ Ûmam {dH${gV {H$`m J`m ^m¡Jmo{bH$ gyMZm àUmbr gm°âQ>do`a {ZåZ{b{IV _| go 
H$m¡Z-gm h¡ ? 1 

(A) {O`mo_o{Q>H$m 

(~) B_o{OZ 

(g) EZo{bñQ> 

(X) dëS>©ì`y 

Which one of the following is a GIS software developed by Intergraph ? 

(a) Geomatica 

(b) Imagine 

(c) Analyst 

(d) WorldView 

2. hdmB© N>m`m{MÌrH$aU Ho$ {bE {ZåZ{b{IV _| go H$m¡Z-gm g_` gdm©{YH$ Cn`wº$ hmoVm h¡ ? 1 

(A) 10 a.m. – 12·00  

(~) 12·00 – 2 p.m. 

(g) 4 p.m. – 6 p.m. 

(X) 10 a.m. – 2 p.m. 

Which of the following is the most suitable time to conduct aerial 

photography ? 

(a) 10 a.m. – 12·00 noon 

(b) 12·00 noon – 2 p.m. 

(c) 4 p.m. – 6 p.m. 

(d) 10 a.m. – 2 p.m. 
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3. ^maV _| _mZ{MÌ V¡`ma H$aZo _| gm_mÝ`V: H$m¡Z-gr AmYma-aoIm (S>oQ>_) à`moJ H$s OmVr h¡ ? 1 

(A) ỳ.Q>r.E_. 

(~) EdaoñQ> 

(g) EZ.S>ãë`y.S>r. 

(X) S>ãë`y.Or.Eg. 84 

Which datum is commonly used for preparing maps in India ? 

(a) UTM 

(b) Everest 

(c) NWD 

(d) WGS 84 

 

 

4. H$V©Z, à{VÀN>oXZ Am¡a AÛ¡V (`y{Z`Z) {H$g YamVbr` (ñWm{ZH$) CnH$aU H$m {hñgm h¡ ? 1 

(A) {db`Z (_O©) 

(~) {Q>Z (TIN) 

(g) amñQ>a A{Y{MÌ 

(X) doŠQ>a A{Y{MÌ 

Which spatial tool includes clip, intersection and union ? 

(a) Merge 

(b) TIN 

(c) Raster Overlay 

(d) Vector Overlay 
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5. {ZåZ{b{IV _| go {díd H$s àW_ CnJ«h àUmbr H$m¡Z-gr h¡ ? 1 

(A) ZdñQ>ma 

(~) Q´>m§{µOQ> 

(g) AmB©.Ama.Eg. 

(X) ½bmoZmg 

Which of the following is the first satellite system of the world ? 

(a) NAVSTAR 

(b) TRANSIT 

(c) IRS 

(d) GLONASS 

 

6. {ZåZ{b{IV _| go ê$g Ûmam {dH${gV H$s J`r {dídì`mnr nW-àXe©Z (Z¡{dJoeZ) CnJ«h 
àUmbr H$m¡Z-gr h¡ ? 1 

(A) ZdñQ>ma 

(~) ½bmoZmg 

(g) J¡br{b`mo 

(X) JJZ 

Which of the following is the global navigation satellite system developed 
by Russia ? 

(a) NAVSTAR 

(b) GLONASS 

(c) GALILEO 

(d) GAGAN 
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7. S>r.Or.nr.Eg. H$s n[aewÕVm h¡ 1 

(A) 15 _r. – 100 _r. 

(~) 1 go_r. – 5 go_r. 

(g) 0·5 _r. – 5 _r. 

(X) 20 _r. – 50 _r. 

The accuracy of DGPS is 

(a) 15 m – 100 m 

(b) 1 cm – 5 cm 

(c) 0·5 m – 5 m 

(d) 20 m – 50 m 

 

8. H$m¡Z-gm Xÿa g§doXZ g§doXH$ Ñí` ({dµOr~b), ZµOXrH$s Adaº$ (EZ.AmB©.Ama.), _Ü` 
Adaº$ (E_.AmB©.Ama.) Am¡a gyú_Va§J (_mBH«$modod) ~¡ÊS> na H$m`© H$aVm h¡ ? 1 

(A) n¡ZH«$mo_¡{Q>H$ 

(~) H$ba 

(g) _ëQ>r-ñnoŠQ´>b 

(X) hmBna-ñnoŠQ´>b 

Which remote sensing sensor works upon visible, NIR, MIR and 
microwave bands ? 

(a) Panchromatic 

(b) Colour 

(c) Multi-spectral 

(d) Hyper-spectral 
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9. Zm¡g§MmbZ (Z¡{dJoeZ) Ho$ dV©_mZ `wJ H$mo OmZm OmVm h¡ 1 

(A) Vmam `wJ 

(~) ao{S>`mo `wJ 

(g) CnJ«h `wJ 

(X) amS>ma `wJ 

The present age of navigation is known as  

(a) Star age 

(b) Radio age 

(c) Satellite age 

(d) Radar age 

 

 

10. EH$ n[agån{Îm (EogoQ>) H$s ghr pñW{V Am¡a n[apñW{V H$mo AÚVZ H$aZo _| H$m¡Z-gm 
Or.AmB©.Eg. gdm©{YH$ Cn`moJr hmoVm h¡ ? 1 

(A) Iwbm (AmonZ) Or.AmB©.Eg. 

(~) gMb (_mo~mBb) Or.AmB©.Eg. 

(g) CÚ_ (EÝQ>aàmBµO) Or.AmB©.Eg. 

(X) do~ Or.AmB©.Eg. 

Which type of GIS is most useful in updating asset location and  

condition ? 

(a) Open GIS 

(b) Mobile GIS 

(c) Enterprise GIS 

(d) Web GIS 
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11. {ZåZ{b{IV Z{X`m| _| go H$m¡Z-gr ZXr {~hma _| ~ma§~ma ~m‹T> bmVr h¡ ? 1 

(A) J§Jm 

(~) VrñVm 

(g) H$mogr 

(X) H$mbr 

Which of the following rivers causes frequent flooding in Bihar ? 

(a) Ganga 

(b) Teesta 

(c) Kosi 

(d) Kali 

 

 

12. {ZåZ{b{IV YamVbr` (ñWm{ZH$) {díbofU CnH$aUm| _| go H$m¡Z-gm AmnXm à~§YZ _| g~go 
µÁ`mXm ghm`H$ h¡ ? 1 

(A) ~\$a 

(~) àíZ (Šdoar) 

(g) {db`Z (_O©) 

(X) {dKQ>Z ({S>µOm°ëd) 

Which of the following spatial analysis tools is extremely helpful in 
disaster management ? 

(a) Buffer 

(b) Query 

(c) Merge 

(d) Dissolve 
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13. {ZåZ{b{IV _| go 8-{~Q> J«o-ñHo$b H$s nhMmZ H$s{OE : 1 

(A) 0 – 64 

(~) 0 – 128 

(g) 0 – 256 

(X) 0 – 1024 

Identify the 8-bit grayscale from the following : 

(a) 0 – 64 

(b) 0 – 128 

(c) 0 – 256 

(d) 0 – 1024 

 

 

14. `{X EH$ _mZ{MÌ H$m n¡_mZm (ñHo$b) 1 : 25,000 h¡, Vmo _mZ{MÌ na 1 go_r H$s Xÿar, 
YamVb na {H$VZr Xÿar Ho$ ~am~a hmoJr ? 1 

(A) 5 _r. 

(~) 10 _r. 

(g) 50 _r. 

(X) 250 _r. 

If a map scale is 1 : 25,000, what will be the ground distance 
corresponding to 1 cm on the map ? 

(a) 5 m 

(b) 10 m 

(c) 50 m 

(d) 250 m 



247  9 P.T.O. 

15. {H$gr OJh Ho$ Ajm§e Am¡a Xoem§Va H$mo OmZZo Ho$ {bE {H$VZo CnJ«hm| H$m hmoZm Amdí`H$  
h¡ ? 1 

(A) 2 

(~) 3 

(g) 4 

(X) 5 
How many satellites are required to obtain latitude and longitude of a 

place ? 

(a) 2 

(b) 3 

(c) 4 

(d) 5 

IÊS> I 

SECTION B 

N>: àíZm| _| go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ Ho$ Xmo A§H$ h¢ & 
Attempt any four questions out of six questions. Each question carries two 
marks.  24=8  

16. gm_mÝ`rH¥$V A§Va dZñn{V gyMH$m§H$ (EZ.S>r.dr.AmB©.) Š`m h¡ ? 2 
What is Normalised Difference Vegetation Index (NDVI) ? 

17. ^m¡Jmo{bH$ gyMZm àUmbr _| gyMZm A{YJ«hU Ho$ {H$Ýht Xmo òmoVm| H$m C„oI H$s{OE & 1+1=2 
Mention any two sources of data capturing in GIS. 

18. {dídì`mnr pñW{V-{ZYm©aU àUmbr H$s VH$ZrH$ H$s {H$Ýht Xmo n[agr_mAm| H$m C„oI  

H$s{OE & 1+1=2 
Mention any two limitations of GPS technology. 

19. ^m¡Jmo{bH$ gyMZm àUmbr _| CnJ«hm| go àmßV OmZH$mar Ho$ g_mH$bZ Ho$ Š`m bm^ h¢ ? 2 
What are the benefits of integration of satellite data with GIS ? 

20. gm¡a {d{H$aU H$s {H$Ýht Xmo g§nH©$ à{V{H«$`mAm| H$mo ñnîQ> H$s{OE & 1+1=2 
Explain any two interaction responses of sun-rays. 

21. S>ãë`y.Or.Eg. 84 (WGS 84) Š`m h¡ ? ñnîQ> H$s{OE & 2 
What is WGS 84 ? Explain. 
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IÊS> J 

SECTION C 

gmV àíZm| _| go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ Ho$ VrZ A§H$ h¢ &  
Attempt any five questions out of seven questions. Each question carries three 
marks.  35=15 

22. hdmB© {MÌrH$aU Š`m hmoVm h¡ ? hdmB© {MÌm| H$s JwUdÎmm H$mo à^m{dV H$aZo dmbo {H$Ýht Xmo 
KQ>H$m| (H$maH$m|) H$mo ñnîQ> H$s{OE & 1+2=3 
What is an aerial photograph ? Explain any two factors affecting the 

quality of aerial photos. 

23. A{VdU©H«$_r` (hmBna-ñn¡ŠQ´>b) à{V{~å~ Š`m h¡ ? BgHo$ {H$Ýht Xmo bm^m| d Xmo hm{Z`m| H$m 
C„oI H$s{OE & 1+2=3 
What is hyper-spectral imagery ? Mention any two of its advantages and 

two disadvantages. 

24. {dídì`mnr Q´>m§gdg© _H}$Q>a (UTM) {díd _| gdm©{YH$ àM{bV {ZX}e V§Ì Š`m| h¡ ? ñnîQ> 
H$s{OE & 3 
Why is Universal Transverse Mercator (UTM) the most popularly 

accepted coordinate system in the world ? Explain. 

25. ^m¡Jmo{bH$ gyMZm àUmbr à{Vê$nU (_m°S>qbJ) Š`m h¡ ? amñQ>a Am¡a doŠQ>a S>mQ>m _m°S>b Ho$ 
Cn`moJm| H$mo ñnîQ> H$s{OE & 1+2=3 
What is GIS modelling ? Explain the uses of raster and vector data 

models. 

26. gmd©O{ZH$ Cn`mo{JVm n[a`moOZmAm| _| ^m¡Jmo{bH$ gyMZm àUmbr Ho$ H$moB© VrZ bm^ {b{IE & 3 
Write any three benefits of GIS in pubic utility projects. 

27. An`©do{jV à{V{~å~ dJuH$aU Š`m hmoVm h¡ ? ñnîQ> H$s{OE & 3 
What is unsupervised image classification ? Explain. 

28. {H$gr dñVw H$s pñW{V Ho$ ~XbZo Am¡a AmH$ma _| n[adV©Z Ho$ H$maU H$m¡Z-gr Ìw{Q> (AewÕVm) 
CËnÞ hmoVr h¡ ? Bg Ìw{Q> (AewÕVm) Ho$ òmoVm| H$s ì`m»`m H$s{OE & 1+2=3 
Which type of error is caused due to shift in location and change in the 

shape of features ? Explain the sources of this error. 
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IÊS> K  
SECTION D 

gmV àíZm| _| go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ Ho$ nm±M A§H$ h¢ & 
Attempt any five questions out of seven questions. Each question carries five 

marks.  55=25   

29. {d^oXZ ([agmoë`yeZ) Š`m h¡ ? Mma àH$ma Ho$ {d^oXZ H$mo Cn ẁº$ CXmhaUm| g{hV ñnîQ> 
H$s{OE & 1+4=5 
What is resolution ? Explain four types of resolution with suitable 

examples. 

30. {S>{OQ>b B_oO àmogoqgJ (S>r.AmB©.nr.) Š`m hmoVm h¡ ? S>r.AmB©.nr. _| à{V{~å~ nwZ:ñWmnZ 
Am¡a gm§p»`H$s` {díbofU H$s à{H«$`mAm| H$mo ñnîQ> H$s{OE & 1+2+2=5 
What is Digital Image Processing ? Explain the process of image 

restoration and statistical analysis in DIP. 

31. _mZ{MÌ àjon Š`m h¢ ? n¥Ïdr na ñd`§ H$s pñW{V {ZYm©aU _| do {H$g àH$ma ghm`Vm H$aVo  
h¢ ? {ZX}e V§Ìm| H$s _XX go ñnîQ> H$s{OE & 1+1+3=5 
What are map projections ? How do they help in locating ourselves on the 

Earth ? Explain with the help of coordinate systems. 

32. ‘‘gm_m{OH$-Am{W©H$ Am¡a OZgm§p»`H$s` gyMZmAm| Ho$ {bE doŠQ>a S>mQ>m _m°S>b A{YH$ 
Cn ẁº$ hmoVm h¡ &’’ Bg S>mQ>m g§aMZm H$mo {dñVmanyd©H$ ñnîQ> H$s{OE & 5 
‘‘Vector data model is more appropriate for socio-economic and 

demographic data.’’ Explain the data structure in detail. 

33. {díd Ho$ CîU Am¡a CnmoîU-H${Q>~§Yr` joÌm| _| Ba_m O¡go MH«$dmVr` Vy\$mZm| H$s Amd¥{Îm ~‹T>Vr 
Om ahr h¡ & Bg Vah H$s àmH¥${VH$ AmnXmAm| Ho$ à~§YZ _| ^y-AmH$mer` VH$ZrH$ H$hm± VH$ 
H$maJa hmo gH$Vr h¡ ? ñnîQ> H$s{OE & 5 
Super cyclones like Irma are now very frequent in tropical and  

sub-tropical areas of the world. How can Geospatial technology help us in 

managing such natural disasters ? Explain. 

34. gyú_Va§J gwXÿa g§doXZ Š`m h¡ ? BgHo$ àH$mam| Am¡a bm^m| H$mo ñnîQ> H$s{OE & 1+2+2=5 
What is Microwave Remote Sensing ? Explain its types and benefits. 

35. ‘‘^m¡Jmo{bH$ gyMZm àUmbr H$m Cn`moJ àemg{ZH$ {ZU©̀ m| H$mo Vrd« Am¡a ~ohVa ~ZmVm h¡ &’’ 
H$WZ H$s {dñVmanyd©H$ ì`m»`m H$s{OE & 5 

‘‘Use of GIS leads to better and fast decision-making in governance.’’ 

Elaborate the statement. 

  1,000 


